(4) HEFTEOBBAROHER (RA)

SERS284F (2016) 7H 1 H BLTE (HAN7 - N)
G T S PR RS DR kel navtand IFE 0 ol A EE P2 I I wE |y
s [H24 (2012) 96 12 20 11 17 6 10 13 69 55 8
{jé
VIt (125 (2013) 91 13 29 14 17 5 14 14 68 56 8
=
126 (2014) 93 17 19 13 17 5 14 13 64 58 9
H27 (2015) 98 26 20 10 16 3 11 14 62 55 9
128 (2016) 117 28 24 11 19 3 15 17 63 53 8
H24 (2012) 1 7
A
T H25(2013) 1 8
o
H26 (2014) 1 8
2
2R
{}ilf H27 (2015) 1 1 5
=
128 (2016) 1 1 1
H242012) | 2,238 420 242 2371  460] 101 4 1 8 2 2
P25 2013) | 2,268 375|278 241|467 94 4 2 8 2 2
=
[i]=]
= l26(2014) | 2,364|  366| 296| 242|478 81 4 2 9 2 2
i
Bh
T [her2015) | 2,596] 384 326 230|483 89 4 2 5 2 2
Heg(2016) | 2,696  381|  316| 225|481 98 4 2 5 2 2
H24(2012) | 2,329 433 264  251] 477|106 18 15 77 65 10
H25(2013) | 2,359  388|  300]  255| 484 99 18 16 77 66 10
é?
|26o10)| 2,457 383 315 255 495 86 18 15 74 68 11
Ho7(2015) | 2,695  410]  346|  241| 499 92 15 16 67 62 11
H28(2016) | 2,814 409 340 237 500|101 19 19 68 56 10
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4 AR TN X — | AL |4 xT=N | A2 VT S P AV S R P 2=V E T SN e
:3 H24 (2012) 16 2 2 3 1 1 1 4 1
{jé
Uit (125 (2013) 15 2 3 1 1 1 3
I=|
H26 (2014) 13 1 3 1 1 1 3
H27 (2015) 12 1 3 1 1 1 3
H28(2016) 12 1 3 1 1 1 3 1
H24(2012)
2
T H25(2013)
>
126 (2014)
[i%:é
A3
o H27 (2015) 1 1
=
H28(2016) 1
H24 (2012) 105 4
S 25 (2013 100 2
(2013)
i
£ |H26 (2014) 93 2
i
B
+ H27 (2015) 83 1
H28 (2016) 85
H24 (2012) 15 2 3 105 1 1 5 3
H25(2013) 15 2 3 100 1 1 3 3
é%
H26 (2014) 13 1 3 93 1 1 3 3
H27(2015) 13 1 3 83 1 1 3 3
H28 (2016) 12 1 3 85 1 1 2 3 1
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:3 H24 (2012) 1 1 2

f‘)z\‘

Uit (125 (2013) 2 1 1 4

=]

H26 (2014) 2 1 2 7

H27 (2015) 2 1 2 1 9

H28 (2016) 4 37 3 1 1 8

H24 (2012)

S
T H25 (2013) 1
>
H26 (2014) 1
z
3
o 127 (2015) 1
=

H28(2016)

H24 (2012) 2 57 65
b lizs (2013 2 48| 68
(2013)
it
& [H26 (2014) 3 2 42 80
i
% H27(2015) 10 3 38 107

H28 (2016) 1 3 46| 105

H24(2012) 2 1 3 61 65

H25(2013) 2 1 3 1 52 68
é?

H26(2014) 2 4 4 1 49 80

H27(2015) 2 2 11 5 1 1 47 107

H28(2016) 4 38 6 1 1 54 105
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.x H24 (2012) 1 1
:.j_'\:
X
Uit (125 (2013) 1 1
=
H26 (2014) 1 1
H27 (2015) 1 1
H28 (2016) 1 1
H24(2012)
2
T H25 (2013)
>
126 (2014)
it
2
o [127(2015)
=
128 (2016)
H24 (2012) 9 25 4
M 125 (2013
( ) 7 1 19 3
B3
& [H26 (2014) 7 1 15 3
ey
B
+ [H27(2015) 10 1 21 1
H28 (2016) 8 36
H24 (2012) 1 9 25 1 4
H25(2013) 1 7 1 19 1 3
AN
=
~ [H26(2014) 1 7 1 15 1 3
H27 (2015) 1 10 1 21 1 1
H28(2016) 1 8 36 1
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o A

R R L it
‘\ H24 (2012) 356
H25 (2013) 361
H26 (2014) 364
H27 (2015) 1 371
H28 (2016) 1 446
H24 (2012) 9
Z
731”‘ 125 (2013) 11
>
H26 (2014) 11
z
3
o 127 (2015) 11
=
H28 (2016) 5
H24 (2012) 3,995
H25(2013) 1 4, 000
H26 (2014) 1 4,101
H27 (2015) 1 4, 404
H28 (2016) 1 4, 500
H24 (2012) 4, 365
H25 (2013) ) 4,372
H26 (2014) 1 4,476
H27 (2015) 1 1 4,786
H28 (2016) 1 1 4,951
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